

Solicitation Information

Logan County Engineer's Office

Solicitation Number

2025 Logan County, OPWC Ohio Road Resurfacing

Deadline

08/19/2025 11:30 AM EDT

Advertised

07/29/2025 11:02 AM EDT

Description

Logan County Engineer's 2025 OWPC Funded Resurfacing Program. Bid Request is for resurfacing various county roads throughout Logan County.

Location(s)

Logan, Ohio

Bidders

Business Name	Address	Phone
Shelly Company - Northwest	1700 Fostoria Ave Findlay, OH 45840-6240	(419) 422-8854 x3401
1 Bidder		

Shelly Company - Northwest				
Item	Quantity	Price	Extension	
County Road 5				
10 Tack gal	993.00	\$3.00	\$2,979.00	
20 404 LVT PG 58-28 ton	2,080.00	\$112.00	\$232,960.00	
30 617 Berm, Type A ton	385.00	\$43.00	\$16,555.00	
40 Mill Butt Joint ea	4.00	\$480.00	\$1,920.00	
50 Rejuvenating Sealer sy	24,836.00	\$1.25	\$31,045.00	
60 Pavement Marking Center Line Centerline Miles	3.56	\$1,400.00	\$4,984.00	
County Road 39				
70 Tack gal	1,513.00	\$3.00	\$4,539.00	
80 404 LVT PG 58-28 ton	3,167.00	\$109.00	\$345,203.00	
90 617 Berm, Type A ton	608.00	\$36.00	\$21,888.00	
100 Mill Butt Joint ea	12.00	\$480.00	\$5,760.00	
110 Rejuvenating Sealer sy	37,813.00	\$1.25	\$47,266.25	

Shelly Company - Northwest				
Item	Quantity	Price	Extension	
120 Pavement Marking Centerline Centerline Miles	5.81	\$1,400.00	\$8,134.00	
County Road 117				
130 Tack gal	1,268.00	\$3.00	\$3,804.00	
140 404 LVT PG 58-28 ton	2,655.00	\$115.00	\$305,325.00	
150 617 Berm, Type A ton	515.00	\$41.00	\$21,115.00	

Shelly Company - Northwest				
Item	Quantity	Price	Extension	
County Road 117				
160 Mill Butt Joint ea	8.00	\$480.00	\$3,840.00	
170 Rejuvenating Sealer sy	31,690.00	\$1.25	\$39,612.50	
180 Pavement Marking Centerline Centerline Miles	2.09	\$1,400.00	\$2,926.00	
18 Items	Totals:		\$1,099,855.75	